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1) “Nike is a famous  shoe _____ , but it has got a ______ place all over the world. ”
Which choice completes the sentence above meaningfully.
A) casual  -  dress code
B) brand - formal
C) brand -  respectable
D) attitude – respectable
E) brand – attitude

2) A: Can you wear a _____ jeans if there is a ___ in your company?
B: Of course, I can’t.
Which choice completes the sentence above meaningfully.
A) torn - attitude
B) stereotype - torn
C) casual – dress code
D) torn -  dress code 
E) brand – confidence







3) “You must  put socks _____ before your shoes and pull _____ your sleeves before you wash your hands. 

A) in - on
B) on - up
C) off - on
D) in -  off
E) up - in

4) “Ahmet was a very ______ student in his childhood, and he is 30 now, and he is the same.He can’t look at your eyes directly.  As you know, old habits die hard.” 
Which choice completes the sentence above meaningfully.
A) timid
B) mean
C) hardworking
D) lazy
E) considerate

5) She can’t stand ______ in the lift for hours, so I  offered _______ up the stairs.

A) to be – to walking
B) to being – to walk
C) to be – walking
D) be – walking
E) being – to walk
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